L DR 1T 128 M3

1. 46 A={(a,b) €Z? | b# 0} LD 2 FRZ
(a,b) ~ (¢,d) <= ad = cb

LRED D, ~ DRAMARTDH S 2 & 2RE,

2. R Lo axb=a+b— ab IZOWTUTOMWICEZ K.

(1) * DHEOHRE AT 2 L 2TE,

(2) WhILA HIUTRD k.

(3) a € R BWILZFF 270 DM, BLXVZDEED a DHITLZRD X,

4. M ZhERE, N % M OEMERE T2,
(Ha~b<sa—-be NIZEh M LOFRMERERNEE %2 L 2Rt

(2) C(a) + C(b) = Cla+b) Ik b M/N EOWE + NEHTE DB I LETRE,
(3) (2) TEDIMHERREOME AT I L 2R,

5. R %8l I % ROMMEAF7LET S, R/I LORTEE 2MEEEAD
Cla)-C(b) =C(a-b) (a,be R).

(1) LOHENERTE S 2 L 2TE,
(2) COHEEREEHZ AT I 2R,
(3) COWHEE X R/I LONED iz Al 9 2 L 2R+,

6. [:R— R ZBRH¥ERMLE T2,
(1) Im(f) 7% R OWHBCHS 2 & 2RAE,
(2) Ker(f) ¥ R OWifllf 77V TdH 5 Z & 2R,

. 0
7. RZAHAB L T2, My(R) DI EE T = {(Z 0) € My(R) | a,beR} B

My(R) DFEA TT7ILVTH DI LETE,



